Giải bài Luyện tập chung trang 167 SGK Toán 2
Câu 1. Đặt tính rồi tính:

a) 456 + 323 ;                          897 - 253

b) 357 + 621 ;                          962 - 861

c) 421 + 375 ;                          431 - 411

Đáp án
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Câu 2. Tìm X:

a) 300 + X = 800

    X + 700 = 1000

b) X - 600 = 100

   700 - X = 400.

Đáp án 

a) 300 + X = 800

            X = 800 - 300

            X = 500

    X + 700 = 1000

         X = 1000 - 700

         X = 300

b) X - 600 = 100

            X = 100 + 600

            X = 700

    700 - X = 400

        X = 700 - 400

        X = 300

Câu 3. Điền dấu >; <; = thích hợp vào chỗ chấm:

  60cm + 40cm...1m

  300cm + 53cm...300cm + 57cm

  1km...800m 

Đáp án

60cm + 40cm = 1m

300cm + 53cm < 300cm + 57cm

1km > 800m 
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